Errphica RtFrEJEn’J'ﬂ'FWH of Funchens

1) a) ffo)= 3 b) £(-5) <O suice (-5, £(-9) sits
£(ey=-2 below e x-axcs on The grepk of £x).

e) flx)=0 @ x=-3,6,10 d) Fl)=3 @ x=0,Y

e) F(x) is ncreacng on (~4,2) ¢ (8, 11) bl
+lhe slope of £ (s posihive

£) )= % Haree Himes  9) P(F2)= £(v)= 3

Y +2 = %(24-5_)
N=-1= ﬁ[rﬂ-ll)

2) ay flo)=| L) £(8)<0D simce (8, £(8)) |ies
£i{z)= 2 below Fhe x-axrs

DL()=0@ x=-1,5,9 d) Flx)=2@ x=1, 3

e) £(x) is AEﬂffﬂ.&iﬂj on (-3,-2) ; (2,7) ble
He slope of £l is negative

£) $6)=7  Hivee es

9) m = <L o h) m=o
5 -2
o-~3
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3) ) (Fo9)(3) < Fal») by 9 (F)= g(v)

:'F('_|) - ~2
= l.[ .
¢) 4 () = 4(5) d) F(3t-»)= £-2)
= 2 - 3
e) 4(F-1))= 9(4) £) 42{9(.,))4(;)
- - Z = -
2

4) a) A F=lomm, Holly was 0.75 miles From home .
) A i min, Holly was T wile fom hows .
¢) Holly was move Huau fo wile Fow hone o (/’!,B'-f)-
D Holly was vestivg on (b0, 74)

e) Ptoll-, vewcded tle oceau at £ %38 wain 2.6 miles from howe '

'p) M:-['—'.S = 0015 miles
20 ﬁ

3) m = O M;!e%“t

h) '{f =90 min Hvuy ye-l-urnu‘f howe -

?) H'ﬂ“‘{ was J‘Djjl;'—& -PﬂS'l‘CC"“ ¢ -E=Z‘7 min Simee
‘e ampk of hev distomee rs s-leepes-l—.






